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Descriptive Type Qeustions

1. Prove that the equation 

possesses a solution if .

Watch Video Solution

cos 2x + a sinx = 2a − 7

2 ≤ a ≤ 6

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_bXVnhwbAdwfb
https://dl.doubtnut.com/l/_bAgDvXqxQbDI


2. Find the values of x, 

satisfying the equation ,

Watch Video Solution

( − π < x < π, x ≠ 0)

81 + |cos x | + ∣∣ cos2 x ∣∣ + … ∞ = 43

3. Prove that the centre of the smallest circle passing

through origin and whose centre lies on 

is 

Watch Video Solution

y = x + 1
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https://dl.doubtnut.com/l/_bAgDvXqxQbDI
https://dl.doubtnut.com/l/_Hk06eBFal10s


4. Prove by induction that for all  is an

even integer .

Watch Video Solution

n ∈ N, n2 + n

(n ≥ 1)

5. If A, B are two square matrices such that AB = A

and BA = B, then prove that 

Watch Video Solution

B2 = B

6. If , then find 

Watch Video Solution

N = n !(n ∈ N, n > 2)

lim
N → ∞

[(log2 N) − 1 + (log3 N) − 1 + … + (lognN) − 1]

https://dl.doubtnut.com/l/_aOxMZ59P2q6C
https://dl.doubtnut.com/l/_by4cpVG5wDGx
https://dl.doubtnut.com/l/_1OTIeJJtHtq3


Watch Video Solution

7. Use the formula  a, to

compute 

Watch Video Solution

ltx→ 0 = loge
ax − 1

x

ltx→ 0
2x − 1

√1 + x − 1

8. 

Watch Video Solution

= (1 + x2)(1 + y2)
dy

dx

9. Evaluate the following integral 

Watch Video Solution

∫
2

− 1
|x sinπx|dx

https://dl.doubtnut.com/l/_1OTIeJJtHtq3
https://dl.doubtnut.com/l/_CnlVPQZQgrUo
https://dl.doubtnut.com/l/_Gh4IrpGQaOHE
https://dl.doubtnut.com/l/_Si9NSKeb1Jja


10. If  and 

, find the value of 

Watch Video Solution

f(a) = 2, f' (a) = 1, g(a) = − 1

g' (a) = 2

lim
x→ a

g(x)f(a) − g(a)f(x)

x − a

https://dl.doubtnut.com/l/_Si9NSKeb1Jja
https://dl.doubtnut.com/l/_QbXnhiYqHZYa

